Joooooooogog

gooo

1 ODOoooodd

gbooobobooobooboooobooooon
obooobooboooboooooboobooooooDn
ooooboooooboobooooooooooDo
gbobooboooobooboooboboooobooDbo
oboooboooooOoooobooboooooonn
obooooOoboooooobboooobobn
oooobooboooooboooooboooooDo
gbobooboobooboobooobobooooobo
obooooboooooooboboooobooon
oood

oooooooooobbobboboboboboboo
gbobooboooobooboooboboooobooDbo
oooooooOooooooboooooooooon
gboooboobooooboobooooboobooobooDo
oooobooboobooooboooooooDo
gbooobOobooooobobooooboon
obooobOobooobOooooboobooooooDn
goooooboooooboboooooboobo
gbobooboobooboooooboboooobooobo
obooobOoooobooboog

oooobooobooboobooooboooon
goooboboobooboooobooooooDbo
gboooboooobooooboboooboobo
gbooobOoboooooobbooooboobn
obooobOoooooOoooobooboooooon
goooboobooobobooooboooooobooDo
gbobooboooobooooboboooboobo
gooboooooobooooooboobooooobooo
obooooOoboooboobooooobooooooDo

oooobooog

2 = 17417
3 =
5 = 12422
7 =
11 =
13 = 22432
17 = 12442
19 =
23 =
29 = 2245°
31 =
37 = 12+62
41 = 42452
43 =

gbooobooboobooboooboboooobo
obooobOobooobOooooboobooooooDn
gboooboooobooooboooooboooo
ubobooboobooboooobooooboobn
gboooboobooobooboobooooboo

oboooobobooboobo4b0000000 3

oobooooooboboo4000000010 200
goboobooo20000000000 200000
gboboobooooboooobooooboobo
gbooobooboobooooboobooooobo
oboooooboooooobooon



oooooooobobbooooooooooon
gooboooo4000000000000DDOOO
oooobooboooooboooooooooooDo
gboboobobooobooooboboooooDbo
obooooboooooooboobooooobooon
gooobooboobobooooooooooDbo
gboboobOoboooooobooooooobbo
gbooobOoooobooboooobooon

obooooOooooooboooooon
goooogo

p03000000000p=22+42000
000 »,y0000000000000000
p040000000 1000000000

obooobOooooobooboooobooooon
gooobobooobooboooobooboooboooDo
ooooboobooooboobooobooooooooDo
gbobooboobooboobooobobooooobo
obooooOoboooooobooon

p=22+42 000000 2,y000000OCO
p0 400000001

gbooobooboobooobooboo

0000000000000 200 (2k)? = 4k?
0040000000000 200 (2k-1)2 =
4k*-k)+100400001000000000
p=2>+¢y?04000000002,y00000D0
0o00000000000000 10000000
20000p030000000000000000
0000040000000 10000M0000

000000O000pD0 40000000300
00000p=22+4? 000000 z,y0000O
00000000000000000000000
00000000000000000000000
ooooooo

uooobooogn

p03000000000p04000000
010000000p=422+42000000
2,y 000000

2 bQuoobobooboboobobgo

oopooooooooobooooDon z,y0Qd
gboboobOobooooboobooooobooo
oboooboooooooooboooooobooDn
oboooboooobooboooobooboooooobo
oobooooobo0ooooooooomoooo
gboooboobooboooooboboooboDbo
obooobobooobOoooobooboooooDbo
gooooooo

oboooboooobobooooobooooon
oboooboboooboooobooooobooDbo
ooooboooooboooooobooooooooDo
gboooboooboobobooobobooobobo
oboooboooobooogobsboonooDn
6e0000000oOooOoDOobooDoooooonDg
1000000000 b0oooo soboaoboog s
gboooboooobooboooboobooooobo
obooooOoboooooboooooobooon

gboooboooobobooooobooooon
oo
gbooooooooon
U0 p000000000 e 0000Ona O

p 0000000 100000000 n O
1,2,3,...,(p—1) 00000000

000000000000(p-1)0000 a, 24,
3a,..(p—1)e 000 pO0000000D0D0O000
000000000000 ka O ma (k#m)00
OO00ka—ma=(k—m)aD pO00000000
000 «0 p00000000 k—-mO pO0O
000000000 k,mO 1,.,(p—1)0000
00000000k-mO pO00O000O0O00OCO




0000000000000000(p-1)0000
a, 2a, 3a,...(p—1)a 00p 00000000000
000000000000 ,0000000000
{1,2,3,..,(p— 1)} 00000000000000
0000000000000 1000000000
Omoooo

000000p0000000000000001
000 (p—1)0000000 (p—1) 000 na
(n=1,2,3,..,(p—1) 0000000000000
00000000000000000000000
0D0000000000000000 100000
0000000000000000000
00000000000000000000000
000000 p000000000 {0,1,2,...,(p—
1)} 00000000000p0000000000
000000000000000p=500000
0oooo0oo0oo {0,1,2,3,4} 000050000
000000000000

344=7=2,
1-3=-2=3,
3x4=12=2,

gbobooboooobooooobooboooooonDn
ooooobOobooOooobOooooboonDn « 00
oo

na =1

000 ~00000000000000000000
0000000 ¢ '00000000000000
000000000000000000000000
{0,1,2,..,(p—1)} 000000000000000
0000000000000000000000000
000000000000000 {0,1,2,...,(p—1)}
0000000000000000 pO000OO0

0000000000000000000100
00000001000 (p—1)00000000
000000000000000000000000
00000000000000000000000
ooooo

000000000000000
o )

1,2,3,...,(p—1) 00000000 k0000
p000000000000 «a0000na
p 0000000 kOODDOO p0O00O0DO
ne=k000000000 n0O 1,2,3,..., (p—1)
00000000

J

3 Uooooon

uboobooboooboooboobobaon
goooboooboooooboobooboonobo
b0 oboboooobooboobobOoboon
oboooboooooOoooobooboooobooDn
gbooaod

2+ = (v +iy)(z —iy)
00000000000000000000000
0000000000000000000000p
00000000000000000000000
00000000000000000000000
00000000000000000000000
00000000000000000000000
00000

5= (14 26)(1 — 2i)

ubooboooboooobobooobooobon
gooobooogn

gboooboobooboboooobooooon
obooobOoboooooooboooooboon
oboooboooobooooooboboooobooDbo
oooooobooooooboon

gooobooooooobooooooobooboo40D
gobO300b00obo0oboooboobooooooDn
ob400001000000000000000
obooobooooooooon



4 0O0O0OO0OOooOooog

00000000000000000000000
000000000000000000000000
000000000000000000000000

000 O000000000000000000
00000020000000000000000
00O00:00 22=-10000000p=500
00000 {0,1,2,3,4/000 200000000

0% =

12 =1,
22 =4=-1,
32 =9=-1,
42 =16 =1,

0000000000002z=2,30000 22=-1
oobo0odo: 0oobooobobooobogon
r=230000 ;000000000000005
oobooo—0b00b0000b0b000oboooon
goooboooobboobobbo s0bboDbo
gbos0b0boooooon .oboboboon
ooo
obooobooooooooon

p=a"+y° = (z+iy)(z —iy)

Op=50000 :=200000000000
gbs000000000o0ao

5= (z+2y)(x—2y)

0000000000000000000000 50
00000000000000000000000 5
00000000000000500000000
00000000000 (z,y) =(1,2)0 z+2y =5
ooooo
0000000000000000000000
00000000000000000000000
0000000000000000000

p=a"+y°

0000000000 p000000000Oxz+iy
0pO0000000000000 (2,9) 00000
O000000000000000000000
000000 p00000O0 22=-100000
0000p=5000¢=2000 i=30000
z+iy0 p0000000000 (2,y) 0000
O0z,y 0000 pO000000000C0COOOO
000000000 (z,y)0 pO00000O0O000
00000000000000000000000
00002000000000000000000
0000000pO00000 2+iy 0000000
00 (z,y) D pO0000000O0z+4y 0 pO0O
00000000000000
O000000000000000000000
oo
0000000000000000

p000022=-1000:00000000
ubobobdbz+wy O pOobOonoooon
Uez,yoooooo

0002,y 00<a<p, 0<y<,pO000
000000 (x,y) 000000000 ([yp] +1)2
uobdd p0obOO0O0bOO0OobOOoobOoOoDn
Ul z+w O pUOOO0OO000O0O0OO0OOOOOO
(r,y) DOOOOOOOO (x1,y1), (z2,y2) OO OO
goddpnbbDnOO

r1 + 1y = To + 1Yo
oooOooonOoo
(1 —x2) + (1 —y2)i =0

ooo000o0ooOo0ooooDOo00ooboD0z =a1—
o, y=1y1—y U000 z+4y 0 pOOOOODO
oooopooomoogod

00000000000 p=2%2+¢20000
(z,y) 000000000000 O0OO0DOOOOOO
00 22+y? = (z+iy)(x—dy) 000000000

44> 0 p000



ooooooooooboobbooooooong x,y
000 ,p000000D00O0O000DO0000 (z,y)
googo

2?2 +y? < 2(\/[7)2 =2p

0000000O0p00000000 20000
0000 pO000O000Op=22442000000
0000000000000

0000000000000000
o )

p000022=-1000:i00000000
oood

p=a’+y’

0000 (z,y) 000000

5 4000010000

gbooobooboooboboobooboon
goooboooboo
gogboobooobooboo

pO3000000000p0O 4000000
010000000p000022=-1000
z 0000

ooooboboooooboooooboooooDo
gbooobooobooboob 2000000000
ooooooooon

oob20000000000000000000
100 p—-100000000«0000100 p—-1
obooob 00000 neO pOOOOOODO1
obooobb e nO0OO0ODOOOOODOOODO
ec=10a=p—-1=-10000000000
gbooobobooobOoboooboobooooDo
oboobo0ooooooboobOobdbddae=10
a=p—10000000200 p—2000000
Ooooooo (p—2)!0pO000000O0ODIO
gobooooooboooboolooobobooon
oboool100 p—10000000D0O0000OO

(p—1)!'0 pO0000000p-—10000000
0000000000000 000000
0002000000000000000000

o000 o0dk=-1000000000100

p—100000000 «0000100 p—110
ubobod 00000 neO pOO0O000O0O0 -1
ooboo0o0b0O0o0ld eOnO00000DO0O0OOODOO
oobo0ooobooobooobooooD 0000
gboboobOobooooobobooobooboon
obooooooool100 p—-10000000O0
%DDDDDDDDDDDDDDDDDDDDD
ooooooooooooliog p—100000
O0oo0oooo (p—1)!'0p0000000ODOO
DDDDDDDDDDDI]DI:IDI:ID(fl)pz;1 aood
O0p0400000001000000D0 %D
obobooboobooogo (—1)%:1DDDD
ooooooooboooooooooobooog p—-1
obooobOobooooooooboobooooooDn
gooooboboooooobooboboooobooo
0022=-1000 20000000000

6 UOOoon

oooboooooooobooooooooboobooo
gboooboooobooooboboooboDbo
oboooboooobOooooboooooooDn
ooooo

oboobooooobOoboooobooooon
oooooobooog

o0

[Ta-»'=>-.

p:00 n=1

(s) = (1)
gbooobooooboooobooooboobo
gboooboooobooooboboooobooDbo
ooooooooooooooooooobDz+wy O
z,y0ODODO0OOO0OO0000000000DO0OO
00000000000o0o00 ZEooooooo
obooobooboobooooobooboooobooDbo
000 (z3(s) DO0DDOO0DDOODOOODODOO0O



00000000000000()0000000
00000000000000000000000
00000000000000000000000
00000000000000000000000
0000000000100000000 1000
0000000000030 -3000000000
000000000000000000 30000
00000000000000000000000
001000000 +1,+ 0000000000
000 +(1+2i)0 +(—244) 000000000
00000000000000000000000
00000000000000000 90000
00000000000000000000000
0000 900000000000000000
n+mi(n=123,.,m=0,1,2,..) 000000
00000000000000000000000
ooo

gbooobuooboobooboobooboon
obooobooobuoobooboboooboobo
obooobouooobooboooooooooo -3
gogoobbbooooobboooooo sboon
gbooobooobuoobobboobooboobo
o000 nO0000 n+mi0000ODO0OOO
gobobooboobobobobboobuoobob
n+m: JO00000000000O0O0O0O0O0O0OO
00 Nn+mi)OOOOOOOOOOOOOOOO
goooOooooooOoOoo() oo 30 -300
doodbdoo30buooboboboobooobo
goddoooo3dboboboobooooboooobon
ub-3gbobuoobobooboboboboong
oooob 30boobuobooobuoobobooo
gogoobbbooooobbbboouooobobo
goboboobooooboobobobobooonbg
Ubb0On+m: 000000000000 n+me
0000000000000 000 N(n+mi) O
gooobbbooooobbbuooooobobo
uboooooboob n+m: 0000000000
ooooboooboobobobobooboobo
0, n+mi, i(n+mi), (1+4)(n+mi) 00000

oboooboooooooooboooooooDn
gbobobooooboboboooobobada
gbooobooboobgoooboobooboo

N(n+mi) = (\/n2+m2)2 =n? +m?

O0o00o0o0ooOooOoooooooo@) oo
ooooboooono

II 1-N(@P)™)!

pP:O000O0OOCOO n=1m=0

Cz[i](s) =

0000200000 (1)(2)DDO000DoOooo0O
0oooooo

O000 p04000010000030000
000 p0000DO00D0DOO0ODOOODOO20
000000000000 p=(z+idy)(z—iy) O
00000000000()0 p00000000
()0 P=z+iy0 P=x—4y 00000000
OO0O0ON(P)=N(P)=2?+y?>=p000000O
(2)0 P,PODOOODDOODOODODOOODOOO

(1=NP)™) T A-NP)*) " =1-p)77
(3)

000000000000 ()0 p00000000
00000((2)00000002000000000
0000 p04000030000030000
000 p00000000000000000000
()0 pO0O000OO (2)00 P=pO0000
OON(p)=p*000000(2)0 POOO

1-NP)") =0
(4)

00000000000 ()0 p00000000
0000000000 (14p~%)~' 0000000
0oooooo

00 p=20000000000000000
000000000000000000000 2=
—i(1+4)20000000000000p=200

_p—23)—1 — (1 _p—s)—1<1 +p—s)—1



000000 P=1+4i0000N(1+i)=200
000 (1)(2)0000000000ooo

1-27)7" ()

0000000000
000000000 (2)00(3)(4)(5)00000
00o0o0o0o0ooo

Czi)(s) = C(s)L(s,X) (6)

0000000000000000000
Lis,x) =[] @=x@p*)~"
p:00
0000000000 ()00 p000000000
1 (40000 100p000)

-1 (40000300p000)
0 (p=2000)

x(p) =

gbobooboboooboboodyxyoboooboobo
oboooboooooobooobooboooon
O000000000ooo0O0L(s,x) 000 x O
gobooooon L-ooboogooboooooooo
goo

7 OO

0000000000000000000000
00000000000000000000000
00000000000000000000000
00000000000000000000000
00000000000

00000000000p00000000000
0000000 n0000000000 n=2%+y?
00000000000000000000000
0.,000000000004000010000
00300000000000000000000
0000000000000 200000000 4,
p.24500]

0000p=2%+y? 0 p=22+2y%0p = 22 —3y>
000000000000000000000000
0000000000D0000 pO 8000000
01000300000000005000 700
000000000000000000000d p
0000000000000000000000 2
0000000000000 00000 (0O [2)0
00000000000D000000000000
00000000000000000000000
O000D00000 0000010000000
01000000000000000000000
0000000000 0D0000000D00000
0oo0oo0o0go

0000000000000 000000000
000000000000000000000000
000000000000000000000000
00D00000D0000D000000000 Q)
0000 p=22+420000Q(W-2) 0000
p=22+22 0000000000000 2000
00000000000000000000000
00000000000000000000000d
0000000000 0D000000000000
00000000D0000000 (00 [1)0

O000000000000000 (2)0000
00000000000000000000000
000000000000 000 (1)000000
O00000MDO000 (60000000000
O.,00000000000000 n00 L(s,x)
O ¢(s)00000000000000000000
00000000000 L-0000000 L-000
00000000 L-00000000000000
00000000000 D000000D0DO0000
00000000 (00 [(3)000000o0oon
0o0o0o00oooo

oood

1] DO0D0O0O00C0O0ODO0D0mOoOomoo
oono



2] DDDOMOOOO0 N =A24+2B200000
gbobmoooboooooobooboboo
000 O http://wwwl.tmtv.ne.jp/ koyama/

3] DO00D0DWOOO0DO0O0OOoo0ooooOo 2000
U1ooooobooon

(4 DOOD0OOHODOOODOODmMOOOOOO
gmobooobgoobooobooboo



